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74HC595
Ver 1.0A
B KRS
ZH 55 e BRAE AL
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NOTE : XXX Implies that the output is in TRI= STATE mode.
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Ver 1.0A
m T{E%&H
i H i B/ME WG BAE Bfr
IR NS Vee 2 5 6 i
T N R Vins Vout 0 VCC i
VCC=2. OV 0 1000 ns
WALTH/ tr VCC=4. 5V 0 500
\ —, ns
NS tr
VCC=6. OV 0 400 ns
| L
HHE2ERE:  Ta=25TC
e UiH W3R 2514 VCC(V) | H/ME | MU | R | A
2.0 1.5 y
Vg | B HCPA RGN R 4.5 3.15 y
6.0 4.2 v
2.0 0.5 v
Vi | RHSFE R 4.5 1.35 vV
6.0 1.8 v
0n t0 O 2.0 1.9 v
(0]
AQ, : Iow=20pA | 4.5 4.4 v
CTERG " e 6.0 | 5.9 v
Vou | it " Ioy=6.0mA | 4.5 3.9 4.3 v
to V4 or V
I Qn to Qu T y=7.8m | 6.0 | 5.2 5.8 v
o Ioy=4.0mA | 4.5 3.9 4.9 v
4 Ton=5.200 | 6.0 5.2 5.7 v
0r t0 O 2.0 0.1 v
AQ, " Ioy=20pA | 4.5 0.1 | v
fi&HF " e 6.0 0.1 | v
Voo | %t " Ioy=6.0mA | 4.5 0.2 0.4 v
to V4 or V
& Qa to Qn o Y 1oy=7.80A | 6.0 0.25 | 0.4 v
o Toy=4.0mA | 4.5 0.2 0.5 v
4 Ioy=5.2mA | 6.0 0.15 | 0.5 v
v . Vour=Vcc or GND,
Toz | J:PAIRASHH B our—ree 6.0 10 uA
Vi=Viy or Vi
IIN iﬁ])\@/)ﬁ V1=VCC or GND 6.0 1 uA
Icc TAEHL Vi=Vcor GND,IOUT=O|JA 6.0 5 uA
Vee | THEHRE 2 6 \

4/9



E;: BsEUEIHRL 74HC595

Ver 1.0A
TSR Ta=25C VOC=5. 0V, tr=tf<20ns WAJ5%.
(S T H M A sAMA | BAME | RKNE | BT
fvax SCK f i TAEAR 10 MHZ
A AE IR )|
FEHT SE IR ] [A] CL=50pF 100 Ny
SCK to Q'y
A AE IR )|
tphL, A B S IR B[] CL=50pF 100 N
trLH RCK to Qathru Qy
A GEIR B |
LA S IR B ] CL=50pF 5 Ny
SCLR to Q’H
tZHI B iEUuUjEﬁHEULIEU RL=1kO CL=50pF 17 ns
tzL G to Qa thru Qy
an 2 S
bz, _ iR T RL=1kQ CL=50pF 15 ns
t 2 G to Qa thru Qu
tSU E%/J\ﬁ’ﬁﬁﬂﬂ‘rﬁj SER to SCK 20 ns
tsu H/IMEAE R[] SCK to RCK 20 ns
Trem | f/INEFRESIE SCLR to SCK 10 hs
tw /NP EE & SCK or SCLR 20 ns
ty e/ MAFERTE] SER to SCK 5 hs
trin, i BT/ T BV E]
100 hs
trhL Qa thru Qu, Q'x
L MR
1. LK
Vee Vee
T Mg (ID Output
— G \f 1kQ —— OPEN
Input o Qa to Qp | X vy S1
| ® RCK or [ S GND
Pulse Generator il Q' 1g=
Zow=50Q [ | 3 o 50 pF Vee
/)/ Input =
xo: 3
S l ? SCK TEST S1
Pulse Generator
Zout =50 Q ? | IsCIR tpn/ tpu| OPEN
tz /12 Vee
777 Wlf
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Ver 1.0A

2. WHENEREE

* Waveform — 1 (SCK to QH')
tr tf

; 90 % \
Input SCK 50% 50 %

Vee

10%,/ \=10% / oV
wH) | tw(L)
tPLH = - tPHL
90 % 90 %’\ Von
Output QH' 50 % \50 %
10 %, 10 %
VoL
trim truL

Note : 1. Input waveform : PRR < 1 MHz, duty cycle 50%

* Waveform — 2 (RCK to Q)
tr

;Iz 3 Vee
Input RCK 5 %0 %

0 %
10 % / oV
tpLH/tPHL
Output 90 % 90 % Vor
50 %
to QH

o Q 10 % 10 % V.

oL

tren/trie

Note : 1. Input waveform : PRR < 1 MHz, duty cycle 50%

6/9



&> BEs@E#kEIH0RYLIP 74HC595

Ver 1.0A
* Waveform — 3 (SCLR to QH')
tf tr
90 %’\ j‘ 90 % Vee
Input SCLR 50 % 50 %
\r10 % 10 % / 0V
tw
tPHL
0%\ VoH
Output QH' 50 %
}10 % 7
trHL trem
90 % Vee
50 %
10 % 0V
trLH
Note : 1. Input waveform : PRR <1 MHz, duty cycle 50%
* Waveform — 4 (SER to SCK)
tr/ts tr/tf
90 %N 7 90 % 90 % 90 % Vee
INput SER 54 o,/ W |50 % 50 %| X |50 %
10 % 10 % 10 % - 10 % oV
tsu th
Vee
Input SCK
10 % 0V

tr

Note : 1. Input waveform : PRR <1 MHz, duty cycle 50%
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Ver 1.0A
* Waveform — 5 (SCK to RCK)
tr f
= = V,
4 0 0, CC
Input SCK " e

10 % 4 10% oV
Vee

Input RCK 50 %
10 % o0V

tr tf

Note : 1. Input waveform : PRR <1 MHz, duty cycle 50%

* Waveform — 6 (tz, tzu, t 7, thz)
1 tr

— = Vee
— 90 % 90 %
Input G 50 % 50 %

\r 10 % 10 % / oV
tzL tz
\ VoH
Waveform - A 50 % \ /
10 % V
tzH thz oL
/ 90 % Von
Waveform - B 50 %/ \
VoL

Notes : 1. Input waveform : PRR < 1 MHz, duty cycle 50%
2. Waveform - A is for an output with internal conditions such that the
output is low except when disabled by the output control.
3. Waveform - B is for an output with internal conditions such that the
output is high except when disabled by the output control.
4. The output are measured one at a time with one transition per measurement.
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